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Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 25498941856 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks :

Which option best describes what people do at social networking sites?

Options :

1. % They interact with other people.

2. % They browse articles and other content.

3. % They code pages in HTML.

4. % They write code for plug-ins.

Question Number : 1 Question Id : 25498941856 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks :

DI T I T 33T gUI Bl g fob T i AeafohTT Trgel UR o’ B 82
Options :

1. % 3 3 AN & 1Y ST d pd gl

2. % 3 G 3R 3 JEf &l FISW B B

3. % 9§ HTML T T B & Joig BT IS Hd g |

4. % I A & oY Bis o B

Question Number : 2 Question Id : 25498941857 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A is approximately one billion bytes.

Options :

1. % Bit

2. % Terabyte

3. % Gigabyte

4. %= Byte

Question Number : 2 Question Id : 25498941857 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks :

g YT U 3R 1eey gl gl
Options :

1. % f3e (Bit)

2. & m (Terabyte)
3.  FTTIETEE (Gigabyte)
4. % §IZC (Byte)

Question Number : 3 Question Id : 25498941858 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following object-oriented programming language is used to write animation and games for the World Wide Web?
Options :

1. % C

2. % SAP

3. % JAVA

4. = HTML

Question Number : 3 Question Id : 25498941858 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

gﬁm%%@qﬁﬂm&ﬁ?ﬁﬂ%@wm%@m@ﬁﬁﬁm&W@aa-aﬁﬁq%gmwwmﬂﬁo‘mm

Options :
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1. % C
2. % SAP
3. % JAVA
4. % HTML

Question Number : 4 Question Id : 25498941859 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

What would you use for immediate and real-time communication with a friend?

Options :

1. % Dry net

2. % Usenet

3. % E-mail

4. %" Instant messaging

Question Number : 4 Question Id : 25498941859 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

3T i & 1Y T Td 3R Sud-eTsH FRFAGIA & forg Fa1 ST 3

Options :

l. = S‘Igﬁ? (Dry net)

2. ® W(Usenet)

3. % 3.0 (E-mail)

4. % 3@_(.' AR (Instant messaging)

Question Number : 5 Question Id : 25498941860 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks :

“Microprocessor” and “Memory” are the important components of:

Options :

1. % Output devices

2. % Input devices

3. %" System unit

4. ® Desktop

Question Number : 5 Question Id : 25498941860 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Options :

1. % 313cyc fEaga &
2. % $YC fEaga &
3¢ R gfic s

4. % SPHeg b

Question Number : 6 Question Id : 25498941861 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks :

In Windows Vista, the Snipping tool starts in mode.

Options :

1. % alter snip

2. ® previous snip

3. % new snip

4. % old snip

Question Number : 6 Question Id : 25498941861 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
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Correct Marks : 1 Wrong Marks : 0
e fawr ®, Raftieg. As A =earsl
Options :
1. % Teex fHU
2. % Tiifoug Ry
3. g Rm
4. % 3fies U

Question Number : 7 Question Id : 25498941862 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
gives information on all forms of animals and plants.
Options :
1. % Wiki species
2. & Wiki books
3. % Wiki news

4. ® Wiki quotes

Question Number : 7 Question Id : 25498941862 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
T3l 3R e &) gait S &Y SR e B |
Options :
1.« fafes Wi
2. % fafes g
3. % fafes =gt
4. % fafs Dy

Question Number : 8 Question Id : 25498941863 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which file format is used to save Temporary file?

Options :

1. % temf

[\S}

LW tmp

W

. &= temp

S

. & temp.f

Question Number : 8 Question Id : 25498941863 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

SR BTS P Hou & U S I I3 BIHC BT STIRT T STl 82

Options :

l. & temf

2. % tmp

3. % temp

4. % temp.f

Question Number : 9 Question Id : 25498941864 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Styles command group is available under which menu tab in MS Word 2016?
Options :
1. % LAYOUT
2. ¥ HOME
3. % REFERENCES
4. ® VIEW
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Question Number : 9 Question Id : 25498941864 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Ms Word 2016 B, T HHIS JU {5y B 29 & ded Iuas 82

Options :

1. = LAYOUT

2. w HOME

3. % REFERENCES

4. % VIEW

Question Number : 10 Question Id : 25498941865 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

What is the key to cancel a command and close a dialog box in MS PowerPoint?

Options :

1. % End

2. % Esc

3. % Close

4. ® Backspace

Question Number : 10 Question Id : 25498941865 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

MS PowerPointﬁwma’ﬁEaﬂ%{ mmﬁﬂmﬁﬁm%mﬁm%"

Options :

1. = End

2. % Esc

3. ® Close

4. % Backspace

Question Number : 11 Question Id : 25498941866 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks :

In which of the following situations do the running applications of a user account remain active?

Options :

1. % Shut down

2. % Restart

3. % When we switch user

4. % Logoff

Question Number : 11 Question Id : 25498941866 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks :

fm & 9 forg fRufa & forsht Syl wrd & 9a 38 SIyanT fharate 8d 82

Options :

1. & € SI31

2. & e

3¢ R g A R

4. % TN 31

Question Number : 12 Question Id : 25498941867 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks :
ISA in Bus Architecture stands for:
Options :
1. %" Industry Standard Architecture
2. % Internet Standard Architecture
https://g01.tcsion.com/CAE/viewHtmIPDFAction.action 5/34



10/25/21, 11:28 AM https://g01.tcsion.com/CAE/viewHtmIPDFAction.action

3. & Interconnect System Architecture

4. ® Input System Appliances

Question Number : 12 Question Id : 25498941867 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

9 3MfHeaR (Bus Architecture) H ISA BT 3T 34 BT 82

Options :

I ss&g“l WSS SMfdeamr (Industry Standard Architecture)

2. = 32@? WSS AMfHeRR (Internet Standard Architecture)

3. % SR@HAC RCH MfHeRR (Interconnect System Architecture)
4. % g99c R s (Input System Appliances)

Question Number : 13 Question Id : 25498941868 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks :

UDP in context of “Computer Networks” stands for:

Options :

1. % User Datagram Protocol

2. ®% Universal Data Point

3. & User Data Point

4. % User Data Protocol

Question Number : 13 Question Id : 25498941868 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

"HUER Aead" & dgH H UDp BT of F B2
Options :

1. % YR sCTUTH EIEA (User Datagram Protocol)
2. & qﬁaﬁa 3T tI'T_s'_C' (Universal Data Point)

3. ® Yok Seruise (User Data Point)

4. % o} Sl vebia (User Data Protocol)

Question Number : 14 Question Id : 25498941869 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks :

The ” is a distributed file system designed to run on commodity hardware.

Options :

1. % Hadoop Distributed File System

2. % Google Distributed File System

3. & Yahoo File System

4. % Gluster File System

Question Number : 14 Question Id : 25498941869 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks :

“ » e faala fefesges) wga R § O #AIfsd gréamR W Iam & for fog fear mn j1
Options :

1. % Hadoop faaRd (fSfeegcs) wga Ren

2. % Google faaRa (fSfgegcs) wrga Ren

3. & Yahoot.b_l—i'aﬁlﬁ'q

4, = Glusterwm'q

Question Number : 15 Question Id : 25498941870 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
A chart that uses vertical and horizontal lines to connect the data points in a series forming a step-like progression is known as:
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Options :
1. % Step chart
2. & Surface chart
3. & Radar chart
4. % Bar chart

Question Number : 15 Question Id : 25498941870 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Ig 91 1 Al § foriH U Sl H 3ida! & fagaf B SHed ok afafSies Yarsif gR1 A g ue Tiel-siapfa arem TR
fAftfa fora Srar %:

Options :

1. Ry ar

2. % gHy Are

3. ® IGRATE

4. % §RAC

Question Number : 16 Question Id : 25498941871 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

If there are many categories or the values are approximate, use a:

Options :

1. *= Pie chart

2. & Line chart with markers

3. % Line chart without markers

4. % Doughnut chart

Question Number : 16 Question Id : 25498941871 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

3R Sgd ARY AT B 1 /I TIH B Y 3T et v e
Options :

1. % T3 91¢

2. % TIHRI & I A1 e

3. " AR &b [T AT A1

4. ® AR

Question Number : 17 Question Id : 25498941872 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
can be located and removed from a computer by using software utilities available on the Internet.
Options :
1. % Adware
2. % Commands
3. % Hardware

4. % Programs

Question Number : 17 Question Id : 25498941872 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

geAe R IUAH WteadwR gfeferdt &1 vaht a1 1 T &1 T T S Havel § SR I8 HRER I e off b g |
Options :

1. ¥ TSR

2. % HHS

3. % GIEdW

4. % URIH

https://g01.tcsion.com/CAE/viewHtmIPDFAction.action 7134



10/25/21, 11:28 AM https://g01.tcsion.com/CAE/viewHtmIPDFAction.action

Question Number : 18 Question Id : 25498941873 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
is NOT a basic method of authorising someone.
Options :
1. % Name
2. & Password
3. % OTP

4. % Biometric

Question Number : 18 Question Id : 25498941873 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
foreft B iftrpd HxA @t T g} fafy 1t B
Options :
1.« | H
2. % UTHds
3. & OTP
4. % ROMARCS
Question Number : 19 Question Id : 25498941874 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
searches CMOS for the boot device order and checks for a boot sectors.
Options :
1. = Boot sequence
2. % Boot loader
3. % BIOS
4. % Bootstrap

Question Number : 19 Question Id : 25498941874 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

e f3argy 3SR & o1 cMOos &) TieTdl § 3R g aex & o o Rt ]
Options :
1. = Q\??ﬁ%(boot sequence)
2. & T{C.'T“ﬁ@?(boot loader)
3. % BIOS

4. = Q\?@U (bootstrap)

Question Number : 20 Question Id : 25498941875 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks :

To change the current time which command is used in LINUX?

Options :

1. % timedatectl set-time MM:SS:HH

2. w timedatectl set-time HH:MM:SS

3. & timedate set-time HH:MM:SS

4. ® timedatectl set-time HH:SS:MM

Question Number : 20 Question Id : 25498941875 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

LINUX H, I G99 B SGa- & 1Y [d HHIS BT IUIRT 31 91l 572
Options :

1. ® timedatectl set-time MM:SS:HH

2. % timedatectl set-time HH:MM:SS
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3. % timedate set-time HH:MM:SS
4. % timedatectl set-time HH:SS:MM

Question Number : 21 Question Id : 25498941876 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks :

Web crawler is also called as:

Options :

1. % Link directory

2. % Web organizer

3. % Web spider

4. ® Web mails

Question Number : 21 Question Id : 25498941876 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

JEHIRD g

Options :

1. & i MR (ErReesh)

2. % J9 AT (MZOR)

3.« d9 g

4. % J9 U

Question Number : 22 Question Id : 25498941877 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks :

Which of the following chips are specifically designed to handle the processing requirements related to displaying and manipulating 3-D
images?

Options :

1. %= CISC chips

2. & Arithmetic logic unit processors

3. & Control unit processors

4. % Graphics coprocessors

Question Number : 22 Question Id : 25498941877 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

5 9 -4l ey o= &1 9 3-D 309 B UGRId B iR I SHed? Haiiid THpRuT STagadisdl ol HHIeH & o
f&we Ft g B2

Options :

1. % cisc o

2. % TRYARS difod giHe uraed

3. % SHoid gi-e U

4. UTithag YT

Question Number : 23 Question Id : 25498941878 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Printer is a(n) device.

Options :

1. % input

2. % output

3. % network interface

4. % internet Provider

Question Number : 23 Question Id : 25498941878 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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ffexuew _ feamasl
Options :
1. ¥ 3¢
2. % 33TYC
3. % TIPSy
4. % I UIAIRS

Question Number : 24 Question Id : 25498941879 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks :

In a dot matrix, printer quality of printing is determined by number of dots:

Options :

1. % per inch

2. % per cm

3. % per mm

4. % per ft

Question Number : 24 Question Id : 25498941879 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks :

gic Afeay fifex § fifn &t qurar & 3 Feifa fasan smar g2
Options :

1.« Ufd g9 ¥ Sl & Tem

2. & gfa Hiex d fc &1 ¥

3. & [fc fireiiiex o €T &1 ¥

4. ® Jfd wic | Sic & ¥=

Question Number : 25 Question Id : 25498941880 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks :

While connecting a printer to a network, in the Control Panel, click on:

Options :

1. % Printer

2. % Device

3. %" Hardware and Sound

4. % System and Security

Question Number : 25 Question Id : 25498941880 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks :

farait fiier & foreht Aeads T Taiford v THa, did U B fhd IR faass & arfgwe
Options :

1. ® TR

2. % fEaRA W

3. # BTSAWR TS &S W

4. % ey T R )

Question Number : 26 Question Id : 25498941884 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Fill the ? with suitable option with respect to MS Word 2016.
Here is the path to swap your CAPS to lower case and lower case to CAPS.

Home — ? — Change Case — tOGGLE cASE
Options :

1. % Font

2. ® Paragraph
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3. & Styles
4. % Editing

Question Number : 26 Question Id : 25498941884 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks :

MS Word 2016 & TgH 2 & RIM IR Iugad f[ddHed 11|
TG 3MTUH! CAPS ¥ IR HY 3R AR HY F CAPS T gga &1 gfawr & forg gy fear man g1

Home — ? — Change Case — tOGGLE cASE
Options :

1. #" BIC (Font)

2. & a?T’;ITq;(Paragraph)

3. % QAT (Styles)

4. % YOI (Editing)

Question Number : 27 Question Id : 25498941885 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In MS Word document, right indent is indicated by almost like a(n) on the Ruler at the current right margin.

Options :

1. % single triangle

2. % hour glass

3. % rhombus

4. % square

Question Number : 27 Question Id : 25498941885 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

MS Word H, 21T (}3¢) TS & aaHM a4 (T5) THINH R ER R gRISAT fpar Smar g1
Options :

1. % T&hd Hdiu (single triangle)

2. ® IR W@ (hour glass)

3. & fqur®DI ﬁ‘ﬁ\_ﬂ (rhombus)

4, ® (square)

Question Number : 28 Question Id : 25498941886 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

How to get 0.5 line spacing in MS Word 2016?

Options :

1. ®= From the right click of the mouse button

2. % Go to paragraph group and click to line spacing

3. & You do not have option for such line spacing

4. % Do it manually by guessing

Question Number : 28 Question Id : 25498941886 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

MS Word 2016 , 0.5 131 TIRRT B8 UTed a1 S whell 52

Options :

1. ® O3 §¢- & ald (3¢) faad |

2.+ TRTUTG g TR 91T 3R A1s- WRAT R 3 a3 |

3. % 310 U U a5 Wi & fased 181 8

4. % A TG 39 BAYSd U I B |

Question Number : 29 Question Id : 25498941887 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
https://g01.tcsion.com/CAE/viewHtmIPDFAction.action 11/34



10/25/21, 11:28 AM https://g01.tcsion.com/CAE/viewHtmIPDFAction.action

Correct Marks : 1 Wrong Marks : 0

In MS Word 2016, in order to insert a page break, click where you want to start a new page, then click menu tab, and finally click
at the page break option.

Options :

1. % Insert
2. % Home
3. % View

4. &% References

Question Number : 29 Question Id : 25498941887 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

MS Word 2016 T OS5 UfA¥ - & g, a1 WR fFed & ! 31U T 11 U Y& 1 dled of, e T 9 R faas
R, R 3fd H Ul 9 ey R s 1|

Options :

1. % Insert

2. % Home

3. ® View

4. % References

Question Number : 30 Question Id : 25498941888 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks :

In MS Word 2016, where does the "Replace" command icon appear?

Options :

1. % On Insert tab

2. % On Home tab

3. & On Design tab

4. % On View tab

Question Number : 30 Question Id : 25498941888 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks :

Ms Word 2016 H, "R w01 33 Fgi f3ars arg?
Options :

1. % Insert @Rﬂé)%ﬁﬁ

2. % Home (81H) 9 |

3. ® Design (%\_Iﬂs?‘l)%_d'ﬁ

4. % View () cT &

Question Number : 31 Question Id : 25498941889 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is an impact printer?

Options :

1. % Laser printer

2. % Dot-matrix printer

3. ® Inkjet printer

4. % LED printer

Question Number : 31 Question Id : 25498941889 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks :

fafiRad & ¥ o T uye @) ftie 32

Options :

1. ® AoR fifex

2. v Bl At fifeR
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3. % gpoic iR
4. ® Tdse! (LED) fiie’

Question Number : 32 Question Id : 25498941890 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Your webcam is also used for transmitting:

Options :

1. = text

2. % video on the Internet in real time

3. % code

4. % documents

Question Number : 32 Question Id : 25498941890 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

JgHH (webcam) WW—W (a'GFUT) & forg lﬁmm%l
Options :

1. & TRT (text)

2. " IRAfdS JHY H $exe W difsar

3. ® IS (code)

4, = @ﬂaﬂﬁf (Documents)

Question Number : 33 Question Id : 25498941891 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks :

The audio frequency range handled in commercial FM broadcasting is only up to:

Options :

1. % 15 KHz

2. % 10.7 KHz

3. % 5KHz

4. ® 35KHz

Question Number : 33 Question Id : 25498941891 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks :

IOIYU® FM TR TSl Thiebet Yol hadt LEAAGIE]

Options :

1. % 15 KHz

2. % 10.7 KHz

3. ® 5KHz

4. % 35KHz

Question Number : 34 Question Id : 25498941892 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

What is the highest font size available in the font size drop down list in MS Word 2016?

Options :

1. % 48

2. % 64

3. ® 306

4.% 72

Question Number : 34 Question Id : 25498941892 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks :
MS Word 2016 & BT 3R ST S8 el & Tad 3(fieh e PR 1 Jude 872
Options :
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1. % 48
2. % 64
3. % 36
4. % 72

Question Number : 35 Question Id : 25498941893 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

What is the key combination to perform Undo operation in Ms Word?

Options :

1. % Ctl+Z

2. % Ctrl+U

3. ® Cul+y

4. % Alt+U

Question Number : 35 Question Id : 25498941893 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks :

Ms Word & Undo 3ITORH 3 & foT gront Tt 1 g2

Options :

1. % Ctrl+Z

2. ® Cturl+U

3. & Ctrl+Y

4. ® Alt+U

Question Number : 36 Question Id : 25498941894 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

How many levels of indented text can appear in a multilevel list?

Options :

1. % nine

2. % seven

3. % eight

4. * ten

Question Number : 36 Question Id : 25498941894 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T SRy fore § 7o (3328 2ae) & b TR fewrE @ wehd 82

Options :

1wt Al

2. & Id

3. % 36

4. % c¥

Question Number : 37 Question Id : 25498941898 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Histogram equalization is a technique for adjusting image intensities to enhance

Options :

1. %= size

2. & width

3. % height

4. % contrast

Question Number : 37 Question Id : 25498941898 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
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Correct Marks : 1 Wrong Marks : 0
ffemm et @l 9en & fou sfa digar & THEifd $ &1 Th aeie B
Options :
1. % HAPR
2. % PSS
3. ® Gdns

4. % m (contrast)

Question Number : 38 Question Id : 25498941899 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Laser printer uses to create images on printed page.

Options :

1. *= ribbon

2. & ink cartridge

3. % toner

4. % lens

Question Number : 38 Question Id : 25498941899 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Tfed gy W sfaat §9H & o aor fifer BT ST HRAT & |

Options :

1. % Re

2. % 3P PIfce

3. ¥ TR

4. ® g

Question Number : 39 Question Id : 25498941900 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
cryptography schemes are generally categorized as being either stream ciphers or block ciphers.
Options :
1. % Secrete Key Algorithm
2. & Public Key Algorithm
3. % Hash function

4. & Popular key Algorithm

Question Number : 39 Question Id : 25498941900 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
T T fpPr! gome &1 o dR W W R a1 sdiftes Riwx & U | Fifferd fosar smar 8|
Options :
1. « Ryshic B TaliRyd
2. % Ui I TeiRyH
3. % g R
4. % UIgeR & TARYT

Question Number : 40 Question Id : 25498941907 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

How do you define dispatch latency?

Options :

1. % It is the time required to stop one process and start another.

2. & Tt is the time to transfer one file to hard disk.

3. % It is the time taken by processor to finish all the tasks.
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4. & Tt is the time taken to start your computer

Question Number : 40 Question Id : 25498941907 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

3T IO A bl B g

Options :

1. + T8 T Uik (M) 1 A (LTT) 3R ZIR Ufehall 1 L& () A H T arell 99 g |
2. % UE UH BI3d & BTS (% B RYFARd B4 § o arell 994 ¢ |

3. % T8 TR gR1 I 1f &1 A R § T arell 99 B |

4. % g 3P HYR & L& (TTC) T H T 1 9 |

Question Number : 41 Question Id : 25498941908 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A Winchester disk is a

Options :

1. * volatile disk

2. % disk stack

3. % flexible disk

4. & semiconductor memory

Question Number : 41 Question Id : 25498941908 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TR ot & gl

Options :

1. ¥ Jiersd S

2. ¥ S ws

3. % Rifoed f$%

4. % Juiibgaey HAR

Question Number : 42 Question Id : 25498941909 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
To insert an address block for an envelope, a label, an email message, or a letter here are the steps to arrange them in correct order.

a) Choose OK.
b) In the Insert Address Block dialog box, choose a format for the recipient's name as it will appear on the envelope.
¢) On the Mailings tab, in the Write & Insert Fields group, choose Address Block.

d) Choose File > Save
Options :

1.% ¢,b,a,d

2. % ¢,b,d,a

3, % c,a,b,d

4. % d,b,a,c

Question Number : 42 Question Id : 25498941909 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Tl TaaU W, A9d, SHA A4S 1 03 & TSH &l STa- & U 3 el hH H SJafeyd - ardl avull & aR & Jgf aar T g |

a) Choose OK (H %I
b) T TS sl SN Sia |, UTidhd! & ATH & forg T WiHe g off Taay IR faarg &l
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¢) AfHT ST IR, R18e TS 30¢ Wice U & Ugd sl g1

d) 99 H1Ed > 99
Options :

1.% ¢, b,a,d

2. % ¢,b,d, a

3. % c,a, b, d

4. % d,b,a,c

Question Number : 43 Question Id : 25498941917 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Data visualization programs such as business intelligence software make use of the tool for data summarization.

Options :

1. * Function

2. % Macros

3. ® Chart

4. % PivotTable

Question Number : 43 Question Id : 25498941917 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Sl fagaramserRe T o faoy Sefociy IitcaR STTHauu & il IUSRU &1 ST IR ¢ |

Options :

1. ¥ ThaRH

2. % Tl

3. % 41E

4. + fUae drfereT

Question Number : 44 Question Id : 25498941918 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

How will you open an existing file which is NOT opened in another windows?

Options :

1. % By double clicking the selected file icon

2. & By doing single clicking the selected file icon

3. % ALT+TAB

4. & Shift+tDELETE

Question Number : 44 Question Id : 25498941918 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

3T g WGl BT fhd ThR WA, S 3 fdeier 1Y et /2
Options :

1. % TIMHd BI3d 3ZH- IR Sad [dad HID

2. % TG BI3d MEH- IR TP IR [add B

3. ® ALT+TAB

4. % Shift+DELETE

Question Number : 45 Question Id : 25498941920 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks :

Where are data and programme stored when the processor uses them?

Options :

1. %" Main Memory

2. % Secondary Memory

3. % Disk Memory

https://g01.tcsion.com/CAE/viewHtmIPDFAction.action 17/34



10/25/21, 11:28 AM https://g01.tcsion.com/CAE/viewHtmIPDFAction.action

4. & Tertiary Memory

Question Number : 45 Question Id : 25498941920 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TS TR ST 3R VI &1 SUIRT H3al § ol S B! GUoid P 62

Options :

1.« T (0F) AR

2. % Yhssd AURt

3. % &% AuRt

4. % TR TRt

Question Number : 46 Question Id : 25498941921 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Ultra-HD Blu-ray supports video.

Options :

1. = HRD

2. % HDR

3. % HCM

4. % HCA

Question Number : 46 Question Id : 25498941921 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

3fecT R ici FQ'LB\’ (Ultra HD Blue-ray) Jifsa o U HRar gl

Options :

1. ¥ TI.3MR.3I. (HRD)

2. % T4.31.3/R. (HDR)

3. ® TI.ILTH. (HCM)

4. % TI.HIU (HCA)

Question Number : 47 Question Id : 25498941922 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following cards has multiple chips in the same card?

Options :

1. % Hybrid card

2. & Multi-mode communication card

3. % Dual interface card

4. ® Multi-component card

Question Number : 47 Question Id : 25498941922 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

frofifed & 9 forg &1 8 te 81 o1s § 9ga 9 fow aft gt &2
Options :

1. ¥ SRS F18

2. & Ol-AIS B H18

3. # TIA Sy Bl

4. % OTl-HUMC (I UChH) HlS

Question Number : 48 Question Id : 25498941923 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks :

Which of the following types of touchscreen contains two layers with an electrical current running through them?

Options :
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1. # Electric touch screen
2. #® Inductive touch screen
3. % Candid touch screen

4. %" Resistive touch screen

Question Number : 48 Question Id : 25498941923 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

frafafed o @ frg geR & o § &Y tRd gt & o ¥ fagya Ry vanfed g &t gt /2
Options :

1. % 3Afdgd TT W

2. % gSfaca ca A

3. % Plgg T BHH

4. ¥ INREg ca ©pA

Question Number : 49 Question Id : 25498941924 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks :

1 byteis equalto _ number of bits.

Options :

1. % 16

2. %10

3.9

4.%8

Question Number : 49 Question Id : 25498941924 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

198 [eqF RIR gl
Options :

1. %= 16

2. %10

3.®%9

4.%8

Question Number : 50 Question Id : 25498941925 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The protocol is used to transfer files over the Internet.

Options :

1. % SMTP

2. % FTP

3. % HTTP

4. & IMAP

Question Number : 50 Question Id : 25498941925 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks :

Ze3Ae & HIeTH Q WIgd RIFIRT B & g el Idl BT SUTNT fha ST g |
Options :

1. = SMTP

2. % FTP

3. % HTTP

4. % IMAP

Question Number : 51 Question Id : 25498941926 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
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Correct Marks : 1 Wrong Marks : 0
Which of the following is equivalent to 4 nibble?
Options :
1. ®= 8 bit
2. % 6bit
3. % 16 bit
4. %= 12 bit

Question Number : 51 Question Id : 25498941926 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

frofifed & @ o 1 4 fFesd & SRR 82
Options :

1. ® gfae

2. % gfae

3. % 16fac

4. % 2f9¢

Question Number : 52 Question Id : 25498941927 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
transmission protocol is used in case of streamed media scenario.
Options :
1. & TCP
2. & 1P
3. " UDP
4. % HTTP

Question Number : 52 Question Id : 25498941927 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

e fopu g Hifear Rafkd & wrvet 8 AR UidiepTel 1 SUaNT T e 2|

Options :

1. ® TCP

2. % 1P

3. % UDP

4. % HTTP

READING COMPREHENSION

Section Id : 2549894706
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 1

Number of Questions to be attempted : 1

Section Marks : 5

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 2549894747
Question Shuffling Allowed : Yes

Question Id : 25498941911 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (53 to 57)
Ants
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There are more ants than any other kind of land animal in the world. A million ants can live in a few trees, and there may be a quarter of a
million in one colony.

Human beings are extremely interested in the study of ants. The more we study them the more they seem to be like ourselves. Our
dictionary tells us that the ant is a social insect. That means that ants live in societies in which they depend on one another. There are ants
of very many kinds but in general each kind has ants of three main types: queens, males, workers.

In the ant society each worker has a special job. Some workers take care of the young, some carry out building work, and some are soldier
ants who do the fighting. Most of the workers spend a part of their time making sure that there is enough food in the house.

The ants have a good many enemies. They include birds, bears, and ‘ant eaters’ of various kinds. In some cases other ants are their worst
enemies. In some parts of the world, red ants march in large armies to attack the homes of black ants and carry the black ant babies away.
The red ants take the babies home and bring them up in their own colony because they have no workers of their own. When these ants
grow up, they become the only workers in the red ants’ colony.

Some ants make life very uncomfortable for anyone who goes near their colony. But other ants find us very useful. They like the food we
eat. So they come into our houses and gardens and make a home as near to our kitchen as possible-in a hole in the wall, under the ground
just outside, or under the kitchen itself.

Sub questions

Question Number : 53 Question Id : 25498941912 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

According to the passage what makes the study of ants interesting to human beings?

Options :

1. = The variety of ants

2. % Their social nature

3. ® Their diverse habitats

4. % Their ability to climb trees

Question Number : 54 Question Id : 25498941913 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

That ants are social insects is proved by their:

Options :

1. % inter-dependence on each other.

2. & constant fights with each other.

3. & disciplined lifestyle.

4. ® interest in staying close to human beings.

Question Number : 55 Question Id : 25498941914 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The THREE main types of ants in all ant colonies are:

Options :

1. *= soldiers, engineers and nurses.

2. % white ants, red ants and black ants.

3. & farmers, hunters and food gatherers.

4. % workers, males and queens.

Question Number : 56 Question Id : 25498941915 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Red ants steal black baby ants because:

Options :

1. % black baby ants grow up to be worker ants.

2. % red ants cannot have babies of their own.

3. #% black baby ants give company to red baby ants.

4. & red ants are fond of eating black baby ants.

Question Number : 57 Question Id : 25498941916 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
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Correct Marks : 1 Wrong Marks : 0

Ants stay close to human households because they:
Options :

1. = feel secure in human company.

2. % find it easy to collect food.

3. ® Jove social life.

4. % want the comforts of city life.

Question Id : 25498941911 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (53 to 57)

et

ST H el o YR & RIS SIHaR 1 i1 H =ifedl &1 e offiih 31 5@ Us H ¥ a1 difed I8 Jebdl § 3R T
Drar o o8 ara 3 off it et gt g 8|

el & sreqa § 7Y™ 9gd o1 S Bfal 7 g | oI 31 5 ITaT S1ed= el Ja-1 g1 d GHRI A6 oTd § | GART
e HIR GH FAIdT § [ et T AT e | ST Haad Ug § 1 diicdl JHIS § 354 § 1oraH d T gk W AR wd &l
Hifeal 3 YR BI g & Afh1 I T J TS UHR Pt ifedl B diF I TR g1d §: AT, T3, i |

et e H Ul 4ie & U U faRY B g1l § 1 $© Y BIe Sl P BT I8 §, $© [HIU B B X § R F©
gﬁfgﬁufa?ﬁ%ﬁﬁa@émﬁ%lW%&m@mﬁmm@@%%gﬁ%ﬁﬁ@#aﬂﬁ%%wﬁmm
BIEE

el & s g 8 & | I8 At TR & befl, Wi, SR <iet @M aret St 2nfee 8| po Rufedi 7 s ifeal 39 9ot 9
IS » H© gl H, T difedl el Ded] o ORI IR BB ol 1S P A1Y GHA B & AR Bl 911l b | B
QR W W § | 3Tt <fedl Seall Bl S TR o ST U Picii-1 H A § i1 b U I BT P13 i g1 gl 6| 58 U
difeal 9t 81 9l 8, 1 3 AT ifedl & Bidt & dad HfHd &4 o g |

FS difedl U Hic-! & IR 3T aret faat off St & Sfta &) g &1 SEBRI a1 &t o | Afp 37 Hifear guR fae agd &t
ITART Bl 81 3 T HioH T8 hd 8, = 89 W10 &1 39foTT 3 89N BRI 3R Sitel § 37d & TR THaId: TAR IHISTR & Aolclid
AR & HioR, I8 9H & 9 a1 TSR & e Hf g H o9 TR §9rd B

Sub questions

Question Number : 53 Question Id : 25498941912 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TR % SR $UHI & forg =fifedl & sremg &) o feray sAraT 82

Options :

1. % ifedl Bt foe

2. " T HTHTITD WHTT

3. % 3o faftre amare

4. % USI R T DI IAb! &

Question Number : 54 Question Id : 25498941913 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

el & fobg 701 b BRI FHINND Ble BT Sl 82
Options :

1.+ T GaR TR 3faR FfRa

2. % TH gW & 1Y AAR TS |

3. ® SRRy ShaRiaH |

4. % ) & B9 e H 3|

Question Number : 55 Question Id : 25498941914 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks :

PIc H g arell goft <fifedt & ofiF Tt TR PP A B2
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Options :

1. % Jfep, SONfRR 3R T |

2. & Fipg difedl, ara difear sik srelt <fear|
3. & fum, RIeRT iR W e |

4. it TV 3R AT

Question Number : 56 Question Id : 25498941915 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T et Hreh difedl & o= BT N R Al 82

Options :

1. " PIch dfedl & I o= 9D $ TUH TG 5|

2. % 1 et & oo I TR B Ihd &

3. % Pl Aifcdl & o= are R fedl & Iy gl 5

4, & A1 el I Brett Al & T I @H BT WD ¢

Question Number : 57 Question Id : 25498941916 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Hifeal g9w & WY & B9 i @ B2

Options :

1. % TS & 1Y T§H W 3 W o1 QR T € |

2. HISH SHGT BT I & ST Bl

3. # I QIR oo ueie B |

4. % YRR P 9 BT AR 15l B

QUANTITATIVE APTITUDE
Section Id : 2549894707
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 6
Number of Questions to be attempted : 6
Section Marks : 6
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 2549894748
Question Shuffling Allowed : Yes

Question Number : 58 Question Id : 25498941901 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Lo thee following question, two equations sumbered [ and I are given, You have (o solve botls the equations and
select the appropriate option.

I 6x* +25x+24 -~ 0
IL1Z2y" + 13y 4+ 3 =0

Options :
| x X7¥

2. % X2¥

3.9 XY
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4 x Relationship between x and v cannot be established

Question Number : 58 Question Id : 25498941901 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

fem e gy |, & et o Ao e e o) s gdie el 1 g s U ol e 1 4
I 6x®|25x+24=9
Il y*+18y+3=0

Options :

1.8 X>¥

2. ® XY

o
3.5 F

s 3y & Al gdy enlid il Beor e e

Question Number : 59 Question Id : 25498941902 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Ashok left from place A for place B at 8 am and Eahul [eft place B for place & at 1000 a.m The distance between
place A and B iz 637 km. T Ashak and Ralal are travelling at a unifonn speed of 39 kmph and 47 kmph respectively, at
what fime will thew meaf?

Options :

| 2230 pm

5w 4230 pm
3 ® o pm

4 x 4pm

Question Number : 59 Question Id : 25498941902 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

mﬁﬂzmhﬁnﬂﬂsﬁaﬁﬁ:ﬁwﬁaﬁﬁm%ﬁt?@ﬁmﬁﬁmﬂﬁmﬁ
& for maw 10 73 e 81 7w A i B B F e & g 637 T ¥ ol st s

T FA: 39 TheieT 9T 92 AR 47 TR wiS o & BAR G § A S T8RO F 2
TE-gHt ¥ T wEw e

Options :
| % 9MH 530 T

) o 9TH 4:30 74
3 = 3MH B g

4 % TH 4 =52
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Question Number : 60 Question Id : 25498941903 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Ihe ratio of the ages of Tina and Rakesh is 9 @ 10, Ten vears ago, the ratio of their ages was 4 ¢ 5. What is the present
age of Rakesh?
Options :

| & X3 years
5w 20 years

3 ® A0 yoars

Question Number : 60 Question Id : 25498941903 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Mﬁrmﬁmﬂmﬂ:1ﬂﬁ|mﬁqﬁ:ﬁﬂ&qﬁm§mﬁ4:Eun TR T
TAAE YRR B

Options :

| % 25 99
z.fE'Cl'El"ﬁ‘
3 % 30 79
4 % 24 99

Question Number : 61 Question Id : 25498941904 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks :

I how any different wave can the letters of the word *OFFICES™ be arrangsd?
Options :
1w 2520

o # a4

Question Number : 61 Question Id : 25498941904 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

'OFFICES' g & merdt &f famer oot ainy & soaieys fham =7 Werar 27

Options :

1w 2920
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2. % 5040
3. % 1850

4. % 16880

Question Number : 62 Question Id : 25498941905 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks :
What should come in place of the question mark (?) in the following question?

460 x 15-5x20="?
Options :

1. % 92000

2. % 4600

3. % 137800

4. % 6800

Question Number : 62 Question Id : 25498941905 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks :

fafeiad vy & vy g (2) M R S It T st

460 x 15—-5%x20="7?
Options :

1. % 92000

2. % 4600

3. % 137800

4. % 6800

Question Number : 63 Question Id : 25498941906 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The perimeter of a square is Jouble the perimater of a rectangle. The avea of the rectangle is 240 sq.cm. What is the
area of the square?
Options :

100 co?

. TR
) W dGcm

81 cm?
4 & Cannod be determined

Question Number : 63 Question Id : 25498941906 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

wm‘rﬁrqﬁﬁm#vﬁﬂﬁw_ﬁ% HoH &7 895w 240 5q cm £ 997 &7 S9Ed e gr

Options :
100 co?
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36 cm?

a1 cm?

4 o EfE T BT ST wear §

GENERAL MENTAL ABILITY AND REASONING

Section Id : 2549894708
Section Number : 4

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 6

Number of Questions to be attempted : 6

Section Marks : 6

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 2549894749
Question Shuffling Allowed : Yes

Question Number : 64 Question Id : 25498941882 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks :

Which of the following words will come third if all of them are arranged alphabetically as in a dictionary?

Options :

1. % Animate

2. % Animosity

3. % Anguish

4. % Ankle

Question Number : 64 Question Id : 25498941882 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks :

IR Y5 fed T § | afe it 2edl ) U WS H IR F SUR quiigerd B afRyd frar oiman &, df TR RIM IR &1 91 Weg 3T
Options :

1. % Animate

2. %" Animosity

3. ® Anguish

4. % Ankle

Question Number : 65 Question Id : 25498941883 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Select the option that is related to the third term in the same way as the second term is related to the first term.

Oxygen : Burn :: Carbon dioxide : ?
Options :

1. * Isolate

2. % QGas

3. % Extinguish

4. = Explode

Question Number : 65 Question Id : 25498941883 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
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Correct Marks : 1 Wrong Marks : 0

39 faded &1 T S R Teg A 3T TR TEfRId B R TR gORT Weg U8 Ve A GaifId B

SIS : SIS :: BT STSIAHRS : 2
Options :

1. % QY&

2. ¥ GG GH (T9)

3. % T

4, & fq@plc

Question Number : 66 Question Id : 25498941896 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks :
Instruction: Study the following arrangement of letters, digits and symbols to answer the question given below.

AB7CD9ZY*P2MOKS315NT@

Question: How many such digits are there in the sequence each of which is immediately preceded as well as followed by a letter?
Options :

1. % Zero

2. % One

3. % Two

4. % Three

Question Number : 66 Question Id : 25498941896 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

&3 T Uy 1 IR <7 & o 31er, siept SiR Uit @t Fuferiad soawit &) emgdes ug |
AB7CD9ZY*P2MOKS315NT@
SRIad a1 H fard U 37 §, o i Ugd 3R a1¢ H U 3HeR 82

Options :
1. & Y
2. ¥ Up
3.8 Q)

4. % dH

Question Number : 67 Question Id : 25498941897 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks :
Find out which of the letter-series follows the given rule:

Number of letters skipped in between adjacent letters of the series goes on increasing successively by one.
Options :

1. ¥ AEIMQU

2. % DINSXC

3. ® EHKNQT

4. % FHKOTZ

Question Number : 67 Question Id : 25498941897 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TaT T fob 1 3t SreR-9Rae U T o &1 e Rt g
T 4@l B Maead! sieRl & o H BIs T 31&RI &1 U] § Udd IR Th &1 i of ol g

Options :
1. = AEIMQU
2. &% DINSXC
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3. ® EHKNQT
4. " FHKOTZ

Question Number : 68 Question Id : 25498941910 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Select the option that is different than the rest in some way.

Options :

1. ¥ ACF

2. ® PSW

3. % LOS

4. % CFJ

Question Number : 68 Question Id : 25498941910 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

39 fadred &1 7o o o fhel e U Rl ¥ /A g

Options :

1. % ACF

2. %= PSW

3. ® LOS

4. % CFJ

Question Number : 69 Question Id : 25498941919 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks :
There is a certain relationship between the first two words. Select the correct option which has the same relationship with the third word.

Malaria : Disease :: Spear : ?
Options :

1. % Wound

2. % Sword

3. % Weapon

4. = War

Question Number : 69 Question Id : 25498941919 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks :

Ugd &1 T3] & o BIg HaY 2| I T fdehed o1 9= B foraepT IR Wea A 341 &) Gey 2

TR : SHRY - YTl : 2
Options :
1. ® Y9
2. & deldR
3.+ BRIAR
4. 8 g
GENERAL AWARENESS
Section Id : 2549894709
Section Number : 5
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 6
Number of Questions to be attempted : 6
Section Marks : 6
Enable Mark as Answered Mark for Review and Clear Response : Yes
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Sub-Section Number : 1
Sub-Section Id : 2549894750
Question Shuffling Allowed : Yes

Question Number : 70 Question Id : 25498941852 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

‘Trade Gap’ means:

Options :

1. % Gap between total imports and total exports

2. % Gap between total GDP and total consumption

3. ® Gap between available liquidity and expected demand

4. ® Gap between budgeted revenue collection and actual collection of the same

Question Number : 70 Question Id : 25498941852 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TR 3fRTA (28 My b1 31ef Fr 32

Options :

1.+ $d AT 3R Fa afd & §a iR

2. % P SISIYT (GDP) 3R $o WU & st 3R

3. % JUAH T 3R 0 AT F i 3R

4. % FoIc JoRd JUGUT 3R IRfdd T & dF 3R

Question Number : 71 Question Id : 25498941853 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Who among the following composed the Rajtaringini?

Options :

1. % Kalhana

2. % Banabhatta

3. % Dandin

4. ® Amoghavarsha

Question Number : 71 Question Id : 25498941853 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Fafered # @ foaa e Bt T B
Options :

1. " Dhegll

2. & dMUHg

3. % qUel

4. % HEIY

Question Number : 72 Question Id : 25498941854 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The study of fruits is called

Options :

1. % Spermology

2. & Anthology

3. % Pedology

4. %" Pomology

Question Number : 72 Question Id : 25498941854 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Hal & ST DI T HET oIl 52
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Options :
1. % TgHTarStt
2. % QTS
3. & O3arsht
4. & THHICTSH

Question Number : 73 Question Id : 25498941855 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Read the following Assertion and Reason and select the appropriate option.

Assertion (A): The French were defeated by the British in the Third Carnatic War at the battle of Wandiwash.
Reason (R): The Indian rulers did NOT support the French.

Options :

1. ®= Both A and R is true and R is the correct explanation of A.
2. &% Both A and R is true but R is not a correct explanation of A.
3. % Ais true but R is false.

4. %= A'is false but R is true

Question Number : 73 Question Id : 25498941855 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

2 fou U i 3R BRI B UG SR Tg! faded B g |

U (A): TSI BT ASTS B R BICD g H ST - IR ! TRIfoTd fopar Tl
PHRUT (R): HRATT W] A iR o1 gud= =gt fosan ui|

Options :

1. % <A 3R R’ GFI TEI &, TUT R’ ‘A’ &I T ARAT B 1

2. % ‘A’ 3R R’ THT a1, AP R”, ‘A’ B T SARSAT T8 B |

3. % ‘A’ gl g Afe ‘R’ TTAd B

4. % ‘A TTAd § Afb ‘R’ TR B

Question Number : 74 Question Id : 25498941881 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks :

As per Census 2011, what is the literacy rate of Madhya Pradesh?

Options :

1. % 76.70%

2. % 65.88%

3. % 63.70%

4. % 70.60%

Question Number : 74 Question Id : 25498941881 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

2011 B SFIUMT & 3IYR, H TS BT &R <R T 82

Options :

1. % 76.70%

2. % 65.88%

3. % 63.70%

4. % 70.60%

Question Number : 75 Question Id : 25498941895 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Who among the following had won the Wimbledon Women’s Singles Title, 2018?

Options :

1. % Ana Ivanovic
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2. ® Maria Sharapova
3. % Serena Williams

4. % Angelique Kerber

Question Number : 75 Question Id : 25498941895 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

35 7 9 foe 2018 &1 [daare Afgan teve Radre Sftar um
Options :

|. ® QAT 3aHIdg

2. ® HIRGT YRIYTaT

3. % TR faferawy

4. # TOIfeT heR

Mock

Group Number : 2
Group Id : 2549893006
Group Maximum Duration : 5
Group Minimum Duration : 5
Show Attended Group? : No
Edit Attended Group? : No
Break time : 1
Mandatory Break time : Yes
Group Marks : 0
Is this Group for Examiner? : No

English Mock
Section Id : 2549894710
Section Number : 1
Section type : Typing Test
Mandatory or Optional : Mandatory
Number of Questions : 1
Number of Questions to be attempted : 1
Section Marks : 0
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 2549894751
Question Shuffling Allowed : No

Question Number : 76 Question Id : 25498941929 Question Type : TYPING TEST

Summer camps are supervised camps conducted to entertain as well as equip students with various life skills such as teamwork,
socializing, decision making, independent and responsible living and more. It aids the overall development of a child and children
have fun during this process as they get to explore new arenas.
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Actual

Group Number : 3
Group Id : 2549893007
Group Maximum Duration : 15
Group Minimum Duration : 15
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 0
Is this Group for Examiner? : No

English Typing Test
Section Id : 2549894711
Section Number : 1
Section type : Typing Test
Mandatory or Optional : Mandatory
Number of Questions : 1
Number of Questions to be attempted : 1
Section Marks : 0
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 2549894752
Question Shuffling Allowed : No

Question Number : 77 Question Id : 25498941928 Question Type : TYPING TEST

Many restaurants serve it routinely and some people start their day with lemon water instead of coffee or tea. There is no doubt
lemons are delicious but adding them to water make then even healthier. Much of the evidence supporting lemon water health
benefits is anecdotal. Little scientific research has been done specifically on lemon water, but research exists on the benefits of
lemon and water separately. Here are some ways your body may benefit from lemon water. It promotes hydration. According to
the Food and Nutrition Board, general guidelines say that women should get at least 91 ounces per day and men should get at
least 125 ounces. This includes water from food and drinks. Water is the best beverage for hydration but some people do not like
the taste of it on its own. Adding lemon enhances the flavor of water which may help you drink more. It is a good source of
vitamin C. Citrus fruits like lemons are high in vitamin C which is a primary antioxidant that helps protect cells from damaging
free radicals. You have probably heard that vitamin C may help prevent or limit the duration of the common cold in some people
but studies are differing. Vitamin C may reduce your risk of cardiovascular disease and stroke and lower blood pressure. It
supports weight loss. Research has shown that polyphenol antioxidants found in lemons significantly reduces weight gain in mice
that are overfed to induce obesity. In these mice studies, the antioxidant compounds also balance the negative effects on blood
glucose levels and improved insulin resistance, the two main factors in the development of type 2 diabetes. While the same results
need to be proven in humans, anecdotal evidence is strong that lemon water supports weight loss. Whether this is due to people
simply drinking more water and feeling full or the lemon juice itself is unclear. It improves your skin quality. Vitamin C found in
lemons may help reduce skin wrinkling, dry skin from aging, and damage from the sun. How water improves skin is controversial,
but one thing is for sure. If your skin loses moisture, it becomes dry and unsafe to wrinkles. A 2016 laboratory study showed that
a citrus based drink prevent the development of wrinkles in hairless mice. It aids digestion. Some people drink lemon water as a
daily morning routine to help prevent constipation. Drinking warm or hot lemon water when you wake up may help get your
digestive system moving. Ayurvedic medicine says the sour lemon taste helps stimulate your digestion. Ayurvedic medicine allows
you to digest food more easily and helps to prevent the buildup of toxins. It helps prevent kidney stones. The citric acid in lemons
may help prevent kidney stones. Citrate, a component of citric acid makes urine less acidic and may even break up small stones.
Drinking lemon water not only gets you citrate but also the water you need to help prevent or flush out stones.
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